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Excel Answer Sheet for Economics 210

To Accompany Excel Workbook: 14_CostsandSupply.xls

Refer to the Above Excel Workbook in answering the questions below. For each spreadsheet in the workbook, a spreadsheet title and a brief description of the spreadsheet precede one or more questions based on that spreadsheet. Bold letters indicate the spreadsheet name.

Total Cost Curve: Short Description of Worksheet. 

1. Use the scroll bar to change the price.  Initial price is       5      and Maximum profit is          18        .  New price is ________ and Maximum profit is ________.  What happens to profit?  Why?

Total and Per-Unit Cost: Short Description of Worksheet. 

2. Why are profits maximized at a quantity of 36? Phrase your answer in terms of the price (= MR) and marginal cost.

Profit Maximizing Quantity: Short Description of Worksheet. 

3. Use the scroll bar to change the price.  Initial price is    40     and profit is   158.4  .  New price is ________ and profit is ________.  What happens to profit?  What happens to the profit-maximizing quantity? Why?

Prices and Quantities: Short Description of Worksheet. 

4. What is the price that makes the firm's profits equal to zero? Your answer to this will be approximate. Determine the value by examining the graph.

5. What is the price below which the firm is unwilling to produce in the short-run? Your answer to this will be approximate. Determine the value by examining the graph.

Short Run Firm Supply: Short Description of Worksheet. 

6. Use the scroll bar to change AVC*.  

Initial AVC* is ___20___.  New AVC* is ________.  

What happens to the firm's short run supply curve as a result of changing AVC*?  

Why?

Long-Run Firm Supply: Short Description of Worksheet. 

7. Use the scroll bar to change AVC*.  

Initial AVC* is ___20__.  New AVC* is ________.  

What happens to the firm's long run supply curve as a result of changing AVC*?  

Why?

Maximizing Profits: Short Description of Worksheet. 

8. Use the scroll bar to change AVC*.  

Initial AVC* is ___20_.  New AVC* is ________.  

What happens to the firm's profits as a result of changing AVC*?  

Why?

Minimizing Losses: Short Description of Worksheet. 

9. Use the scroll bar to change Price.  

Initial Price is ___20_.  New Price is ________.  

What happens to the firm's profits as a result of changing the price?  

Why?

Short Run Firm_Industry Supply: Short Description of Worksheet. 

10.      Use the scroll bar to change the number of (identical) firms in the industry.  

Initial number is ___500__.  New number is ________.  

What happens to Industry Supply Curve?  Why?

Long Run Firm_Industry Supply: Short Description of Worksheet. 

11. 3. How is the long run firm supply curve different from the short run firm supply curve?

12. How is the long run industry supply curve different from the short run industry supply curve?

Firm and Industry (2): Short Description of Worksheet. 

13.  Use the scroll bar to increase demand for the good.

What happens to the quantity produced by each firm?  Profits per firm?


Why is this not a long-run equilibrium?

Firm and Industry (3): Short Description of Worksheet. 

14.  Use the scroll bar to increase demand for the good.

What happens to the quantity produced by each firm?  Profits per firm?


Why is this the long-run equilibrium?
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How long did it take you to finish this exercise set?

Please rate its difficulty.  Circle one of the numbers on the scale below
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Extremely easy






extremely difficult

Please rate its clarity.  Circle one of the numbers on the scale below
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Extremely clear






extremely confusing

Please suggest ways to improve the exercise set, in terms of either clarity or content.

